

$$\underline{7.1} \quad (i) \int \frac{1}{\sqrt[3]{x}} dx = \int x^{-\frac{1}{3}} dx =$$

$$\left| \int x^a dx = \frac{1}{a+1} x^{a+1} \right|$$

$$= \frac{1}{-\frac{1}{3}+1} x^{-\frac{1}{3}+1} + C = \frac{3}{2} x^{\frac{2}{3}} + C$$

lit.
konst.

$$(ii) \int \operatorname{tg}^2 x dx =$$

$$= \int \frac{\sin^2 x}{\cos^2 x} dx = \int \frac{1 - \cos^2 x}{\cos^2 x} dx$$

$$= \int \left(\frac{1}{\cos^2 x} - 1 \right) dx =$$

$$= \operatorname{tg} x - x + C$$

$$(iii) \int \left(6 \sin 5x + \cos \frac{x}{2} + 2 e^{\frac{2x}{3}} \right) dx$$

$$= -6 \cdot \frac{1}{5} \cos 5x + 2 \sin \frac{x}{2} +$$

$$+ 2 \cdot \frac{3}{2} \cdot e^{\frac{2x}{3}} + C$$

$$(iv) \int \frac{1}{\sqrt{4-x^2}} dx$$

$$\left| \int \frac{1}{\sqrt{1-x^2}} dx = \arcsin x \right|$$

$$= \int \frac{1}{\sqrt{4(1-(\frac{x}{2})^2)}} dx$$

$$= \frac{1}{2} \int \frac{1}{\sqrt{1-(\frac{x}{2})^2}} dx = +C$$

$$= \frac{1}{2} \cdot 2 \cdot \arcsin(\frac{x}{2}) = \arcsin \frac{x}{2} + C$$

$$(iii) \int \frac{1}{x^2+3} = \left| \int \frac{1}{x^2+1} = \arctan x \right|$$

$$= \int \frac{1}{3((\frac{x}{\sqrt{3}})^2+1)} dx =$$

$$= \frac{1}{3} \int \frac{1}{(\frac{x}{\sqrt{3}})^2+1} dx$$

$$= \frac{1}{3} \cdot \sqrt{3} \cdot \arctan \frac{x}{\sqrt{3}} + C$$

Pr. 7.2

(i) $\int x \sin x \, dx$

Integrace per partes

$$\int (uv)' = uv \quad \begin{array}{l} u = u(x) \\ v = v(x) \end{array}$$

$$\int (u'v + uv') = uv$$

$$\int u'v = uv - \int uv'$$

$$\int x \sin x = \left. \begin{array}{l} u' = \sin x \\ v = x \end{array} \right| \begin{array}{l} u = -\cos x \\ v' = 1 \end{array}$$

$$= -x \cos x - \int (-\cos x) \, dx$$

$$= -x \cos x + \int \cos x \, dx$$

$$= -x \cos x + \sin x + C$$

$$(ii) \int (x^2+1)e^{-x} dx =$$

$$= \left| \begin{array}{ll} u' = e^{-x} & u = -e^{-x} \\ v = x^2+1 & v' = 2x \end{array} \right| =$$

$$= -(x^2+1)e^{-x} - \int (-2xe^{-x}) dx$$

$$= -(x^2+1)e^{-x} + 2 \int xe^{-x} dx$$

$$\left| \begin{array}{ll} u' = e^{-x} & u = -e^{-x} \\ v = x & v' = 1 \end{array} \right|$$

$$= -(x^2+1)e^{-x} + 2 \left[\underline{-xe^{-x}} - \int (-e^{-x}) dx \right]$$

$$= -(x^2+2x+1)e^{-x} + 2 \int e^{-x} dx$$

$$= -(x^2+2x+1)e^{-x} - 2e^{-x} dx + C$$

$$= -(x^2+2x+3)e^{-x} + C$$

$$(iii) \int \arctg x \, dx =$$

$$= \int 1 \cdot \arctg x \, dx =$$

$$\left| \begin{array}{ll} u' = 1 & u = x \\ v = \arctg x & v' = \frac{1}{1+x^2} \end{array} \right|$$

$$= x \arctg x - \int \frac{x}{1+x^2} \, dx$$

$$= x \arctg x - \frac{1}{2} \int \frac{2x}{1+x^2} \, dx$$

$$\left| \int \frac{f'(x)}{f(x)} \, dx = \ln|f(x)| \right|$$

$$= x \arctg x - \ln(1+x^2) + C$$

$$(iv) \int e^x \sin x \, dx =$$

$$\left| \begin{array}{l} v = e^x \\ u' = \sin x \end{array} \right|$$

$$\left| \begin{array}{l} v' = e^x \\ u = -\cos x \end{array} \right|$$

$$= -\cos x e^x - \int e^x (-\cos x) dx$$

$$= -\cos x e^x + \int e^x \cos x dx$$

$$= \left| \begin{array}{ll} v = e^x & v' = e^x \\ u' = \cos x & u = \sin x \end{array} \right|$$

$$= -\cos x e^x + \left[e^x \sin x - \int e^x \sin x \right]$$

$$= \int e^x \sin x dx + C$$

$$\rightarrow \int e^x \sin x dx = -\cos x e^x + \sin x e^x + C$$

$$\int e^x \sin x dx = \frac{1}{2} e^x (\sin x - \cos x) + C$$

Pr-7.3 (i) $\int \cos^5 x \sin x dx$

$\int f(x) dx$, $y = y(x)$ substituted
 $dy = ??? dx$

$u = \cos x$
 $du = -\sin x dx$

$$= \int u^5 (-1) du =$$

$$= - \int u^5 du = - \frac{1}{6} u^6 + C$$

$$= - \frac{1}{6} \cos^6 x + C$$

(ii) $\int \cos^5 x \sin^2 x dx =$

$u = \sin x$
 $du = \cos x dx$

$$= \int \cos^4 x \cdot \sin^2 x \cdot \underbrace{\cos x dx}_{du}$$

$$= \int (1 - \sin^2 x)^2 \sin^2 x \frac{\cos x dx}{du}$$

$$= \int (1 - u^2)^2 u^2 du$$

$$= \int (1 - 2u^2 + u^4) u^2 du$$

$$= \int (u^6 - 2u^4 + u^2) du$$

$$= \frac{1}{7} u^7 - \frac{2}{5} u^5 + \frac{1}{3} u^3 + C$$

$$= \frac{1}{7} \sin^7 x - \frac{2}{5} \sin^5 x + \frac{1}{35} \sin^3 x + C$$

$$(iii) \int \frac{\sin^4 x}{\cos^4 x} dx$$

$$u = \tan x$$

$$du = \frac{1}{\cos^2 x} dx$$

$$\cos^2 x = \frac{1}{1 + \tan^2 x}$$

$$\sin^2 x = \dots$$

~~$$= \int \frac{\sin^4 x}{\cos^2 x} \cdot \frac{1}{\cos^2 x} dx$$~~

~~$$= \int \sin^2 x \cdot \tan^2 x$$~~

$$du = \frac{\sin^2 x + \cos^2 x}{\cos^2 x} dx$$

$$du = (\tan^2 x + 1) dx$$

$$du = (u^2 + 1) dx$$

$$= \int u^4 \cdot \frac{1}{u^2 + 1} du$$

$$= \int \frac{u^4}{u^2 + 1} du =$$

$$\left| \begin{array}{l} \text{divide } u \\ \text{together} \\ u^4 : (u^2 + 1) \dots \end{array} \right|$$

$$\left| \frac{u^4}{u^2 + 1} = \frac{u^2(u^2 + 1) - u^2}{u^2 + 1} = \right|$$

$$\left| = u^2 - \frac{u^2 + 1 - 1}{u^2 + 1} = u^2 - 1 + \frac{1}{u^2 + 1} \right|$$

$$\begin{aligned}
&= \int (u^2 - 1 + \frac{1}{u^2 + 4}) du = \\
&= \frac{1}{3} u^3 - u + \arctg u + C \\
&= \frac{1}{3} \operatorname{tg}^3 x - \operatorname{tg} x + x + C
\end{aligned}$$

Pozor: najlakši
 substitucija je $u = \operatorname{tg} \frac{x}{2}$

$$(\text{iv}) \int \frac{(7 + \ln x)^7}{x} dx =$$

$$\begin{aligned}
&| u = 7 + \ln x | \\
&| du = \frac{1}{x} dx |
\end{aligned}$$

$$= \int u^7 du = \frac{1}{8} u^8 + C$$

$$= \frac{1}{8} (7 + \ln x)^8 + C$$

Pozna

$$\int \ln x \, dx = \dots$$

$$\int 1 \cdot \ln x \, dx = \dots$$

6.51 $\int \frac{x}{(x-1)^2(x^2+2x+2)} \, dx$

parcialu - Rozbi

$$\frac{x}{(x-1)^2(x^2+2x+2)} = \frac{A}{x-1} + \frac{B}{(x-1)^2} + \frac{Cx+D}{x^2+2x+2}$$

nejde
vzloz
mod IR

$$\frac{1}{(x-1)^2(x^2+2x+2)}$$

$$x = A(x-1)(x^2+2x+2) + B(x^2+2x+2) + (Cx+D)(x^2-2x+1)$$

$$x = A[x^3 + x^2 - 2] + B[x^2 + 2x + 2] + C[x^3 - 2x^2 + x] + D[x^2 - 2x + 1]$$

$$x^3: 0 = A + C$$

$$x^2: 0 = A + B - 2C + D$$

$$x: 1 = 2B + C - 2D$$

$$x^0: 0 = -2A + 2B + D$$

$\sqrt{e_5}$: me soustaou u vuvuic

$$\frac{x}{(x-1)^2(x^2+2x+2)} = \frac{1}{25(x-1)} + \frac{1}{5(x-1)^2} - \frac{x+8}{25(x^2+x+2)}$$

(dubvnicu - piti)